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QUESTION 1

Which component is upgraded by using an EPLD upgrade on a Cisco Nexus 9000 Series Switch?
A. dual-homed fabric extenders

B. BIOS

C. field-programmable gate arrays

D. ISSU of the NX-OS version

Correct Answer: C

QUESTION 2

What is an advantage of using Ansible for automation as compared to puppet and chef?

A. Ansible automates the enforcement of configuration settings.

B. Ansible perform automation without installing a software agent on the target node.

C. Ansible configures a set of CLI commands on a device by using NETCONF.

D. Ansible abstracts a scenario so that set of configuration setting can be used across multiple operating systems.

Correct Answer: B

QUESTION 3

An engineer requires a solution to automate the configuration and deployment of remote network devices for a
customer. The engineer must keep these considerations in mind:

1.

The customer\\'s environment is based on industry-accepted standards and requires a solution that meets these
standards.

2.

The security requirements mandate the use of a secure transport mechanism between the automation software and
target devices such as SSH or TLS.

3.

The solution must be based on a human-readable and easy to parse format such as XML or JSON. Which solution
must be used to meet these requirements?

A. SNMP

B. REST API
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C. Ansible
D. NETCONF
Correct Answer: D

https://www.cisco.com/c/en/us/products/collateral/ios-nx-0s-software/ios-xe/nb-06-cisco-ios-xe-fag-en.html

QUESTION 4

Which two protocols are used by the NFSv4 protocol? (Choose two.)
A. FCP

B. TCP

C. UDP

D. Ethernet

E.IP

Correct Answer: BE

QUESTION 5

An engineer is implementing OTV on a transport that supports multicast. The solution needs to meet the following
requirements:

1.

Establish adjacency to the remote peer by using multicast.

2.

Enable OTV advertisements for VLAN 100 to the other site.

Which two commands should be configured to meet these requirements? (Choose two.)
A. otv site-vlan 100

B. otv data-group 232.2.2.0/28

C. otv use-adjacency-server 172.27.255.94

D. otv extend-vlan 100

E. otv control-group 232.1.1.1

Correct Answer: DE

Latest 350-601 Dumps | 350-601 PDF Dumps | 350-601 VCE Dumps 3/4


https://www.pass4itsure.com/350-601.html
https://www.pass4itsure.com/350-601.html
https://www.pass4itsure.com/350-601.html

VCE & PDF https://www.pass4itsure.com/350-601.html
2024 Latest passditsure 350-601 PDF and VCE dumps Download
PassditSure.com

Latest 350-601 Dumps 350-601 PDF Dumps 350-601 VCE Dumps

Latest 350-601 Dumps | 350-601 PDF Dumps | 350-601 VCE Dumps 4/4


https://www.pass4itsure.com/350-601.html
https://www.pass4itsure.com/350-601.html
https://www.pass4itsure.com/350-601.html
http://www.tcpdf.org
https://www.pass4itsure.com/350-601.html
https://www.pass4itsure.com/350-601.html
https://www.pass4itsure.com/350-601.html

